
Parts Breakdown 6227D

Page 1 of 2 8/18/2010



Parts Breakdown 6227D

Fig # Part ID Part Name Quantity

Products with multiple versions are listed in subsiding order with the newest version on top not indented

 1 125091-1 SPEED CHANGE LEVER, 6343DWAE  1
 2 183211-3 HOUSING SET, 6227DWE  1
 3 852064-8 NAME PLATE, 6227DWE  1
 3 853915-8 NAME PLATE, 6227DWE  1
 4   266130-9   TAPPING SCREW PT3X16, 6233DWA  8
 5 911143-2 P.H. SCREW M4X22, 6211D  1
 6 232182-2 LEAF SPRING, 6096DWE  1
 7 416079-5 F/R CHANGE LEVER, 6933FD  1
 8 911003-8 P.H. SCREW M3X6, 6261DWPLE  1
 9 651989-1 SWITCH, 6226DWE  1
 9 651989-1 SWITCH, 6226DWE  1
 10   687085-9   HOLDER, 6233DWA  1
 11 654168-0 SPRING TERMINAL (+), 6933FD  1
 11 654168-0 SPRING TERMINAL (+), 6933FD  1
 12   654169-8   SPRING TERMINAL (-), 6233DWA  1
 12 654169-8 SPRING TERMINAL (-), 6233DWA  1
 13   251451-2   P.H. SCREW M5X22, DA391DW  1
 14 763132-1 KEYLESS CHUCK, DA391D  1
 15 125087-2 GEAR ASS'Y, 6226DWE  1
 16 629750-4 DC MOTOR  1
 16 629787-1 DC MOTOR,6227D  1
 17   911003-8   P.H. SCREW M3X6, 6261DWPLE  2
 18 689092-8 HEAT SINK, 6226DWE  1
 19 819063-3 MAKITA LABEL, DA3010F  1
 20 183211-3 HOUSING SET, 6227DWE  1
 1,001 414938-7 BATTERY COVER, 6222DWE  2
 1,002 784636-0 PHILLIPS/SLOTTED BIT 2-65, 6222DWE  1
 1,003 824489-6 PLASTIC CARRYING CASE, 6908DWA-T1  1
 1,003 824581-8 PLASTIC TOOL CASE,6226,27,28DWLE  1
 1,003 824635-1 PLASTIC TOOL CASE,6227D,6991DWDE  1
 5,001   810188-6   N/A  1

Page 2 of 2 8/18/2010


